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You will be supplied with a sheet of formulae by your Superintendent to help in answering this paper.
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MATHEMATICS - ALTERNATIVE - ORDINARY LEVEH,-;

PAPER 2 (300 marks) /-

FRIDAY, 9 JUNE - MORNING 9.30 - 12.00

Attempt SIX QUESTIONS (50 marks each)
Marks may be lost If all your work Is not clearly shown.

(@)  Calculate, correct to one place of decimals,

lhf: external surface area of a hollow cylinder, T

wuhou.t a top or a base, of diameter 18 cm o

and height 7 cm , if n is taken as 3.14, A
K 18 cm

()] A disc has an area of 1256 cm?, Calculate
Its diameter d, if 7t is taken as 3.14,

(c)  The diagram shows two identical trapeziums
pqtv and grst which together
make the figure pgrstv.
Measurements are shown.
Find the length, [, if the area
of pgrstv is 42,16 cm?.

(a)  Find the volume of a right circular cone of T
height 12.14 cm and base radius 102 cm.  12.14 cm
Give your answer correct to the
nearest cm®. Take & as 3.14. L

K—10.2 cm{

() A hollow right circular cone without
a base has radius of 5 cm and height of

12 cm. T
1

(i) Find the slant height 1. 12 cm 1
(i) Find the external surface area of the cone. i

Give your answer correct to the nearest cm®.

Take & as 3.14. €5 cn N

(¢c) A piece of wax in the shape of a rectangular block (52 X 45 x 12) cm® was melted
and reshaped as two right prisms, each of base area 445 cm?2.
One of the prisms was 34 cm high.
Find the height of the other prism to one place of decimals.
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A factory makes electric kettles as follows:

3. (@)
Material :  Copper Alluminium — p, .
Capacity : 2 litre 1.5 litre I litre
Style : Traditional style Eurowslyie
Caleulate how many different types of kettles the factory 1, K
dKeg,
(b) 800 customers bought items in a computer shop. Thev .
y paid as fU”(w'_\.
T e s e '
Purchase Item ‘ _ P o Laptop _"“‘\
et ) , B e
—aldoy eah | = | 42 T Mgy
{ Paid by cheque | 137 ] 88 s
'Ihifi’_.‘lid by credit card | 23 ; _‘56 el 34

(c)

(a)

(5)

(c)

What is the probability that » customer picked g random 1
(i) paid by credit card to buy a PC 7

(i) paid by cash ?

(i) did not buy a modem

Susan (17), Michael (18), Grainne (18), Sarah (16), San

: 1 (1 art
Gary (16) and Gobnait (17) are 4 £rOUp of students, wh 7), Mantin (17

) M
Ose names ang ag ary (18

€5 are giyep,

Each student takes a piece of card and writes on it the firg I
together with his or her age. For example, Susan writes: S17

The cards are put into a bag and one is picked at random,
What is the probability that
(i) the card has the letter S written on it ?
(ii) the card has the letter S or a number greater than 16 on it 9

pqr is an isosceles triangle
with I pg | = | pr| .
If | Zprt | = 130°, find

1) | Zgrp | 1 130°
(i) | ZLrpg | . q
. r

The parallelogram is as shown.
Find the value of x, of y and of 2.

The circle shown has centre c.
The lines ps and gr are parallel
and | Zsqr | = 60°.

Find

() | Zgps|
(1) the value of x and the value of y.




(@ p @3, 4) and 1 (-1, 3) are points.
Find
(|) the coordinates of m, the midpoint of [pr).
(i1) | pr |, correct to one place of decimals,

(b)  The following results of an experiment in heating were noted:

—Time,xinseconds | 0 | g 20 30 40
'l‘cnmcrmurc, y, in °C 13 \’i | 40 .-l.‘i - 33

(l) Plot the points (v, y) on graph paper.

(.u) Join points (10, 35) and (40, 53) by a line.
(l.ii) Find the slope of this line.

(iv) Write down the equation of the line,

Use the equation, or otherwise, to estimate the temperature, v, when the time, x, is 60
seconds.

6. (a)  Sketch the net of the closed pyramid in the diagram if all the edges are of equal length.
[The base is shaded).

(b)  An aerial photograph is taken of some flooded farmland .

|

40 60 70 15 70 60

20m 15

area of the flooding to the nearest square metre.

. ’ imate the
Use Simpson's Rule to estim ed on the picture for your use. The offsets are

The measurements in metres are mark
at intervals of 20 m.
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(c)

8. (a

(b)

(c)

i3 jagram. What i the
P'a:]‘l of the graph of a periodic function is shown in the diag
and the range of (he function ?

15 20

If sin x° = 0.8, calculate the length 1.

Find the vaue of cos y°.

ion of
At a point on level ground 260 m from the foot of a tower the angle i Hasamns
the top of the tower is 10.9°

Find the height of the tower, correct to the nearest metre.

If the point was twice as far away from the foot of the tower on level ground,
calculate the angle of elevation, correct to one decimal place.

Copy the diagram into your answer book.
Construct, without using a set-square,

the perpendicular from the point s to

the given line. Show all construction lines.

Draw accurately the diagram below on T
your page. Construct the image of the 4cm,

triangle under a reduction,
centre p, of scale factor 0.5. p N

Calculate the area of the image triangle. .
culaf g g .F“'4m1'—'>k;4cm—-)|

A map is enlarged by a scale factor of 5.2.

If the original map had area 250 cm?, find the area of the enlargement.

. If two towns were 7 cm apart on the original map, what will be the new length apart

on the enlarged map ?
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FORMULAE

)

AREA

2
/T Area=mr
y
 Arca=pd”
\ 4

=i

.2 \

.j

/\/ 4(Area)
d= b4

AREA

FORMULAE

Area=2xnrh

Area=xdh

r= Arca

2t h

|

AREA

FORMULAE _

Area = h§a+ b)
o

a= ZIArCﬂ! -b
h

AREA

Area=mrl

Note: 1% r2+ h?

el

|

w
g
-

AREA

FORMULAE

Area=ah

a= 2(area)

h

h =.2(Area)
a
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RIGHT TONE VOLUME (V) | FORMULAE
Wi
h V=nelh P nth
3
- | h=3V
T wtr?
[ RECTANGULAR BLOCK [ VOLUME (V) | FORMULAE .
a= _V_
V =abe be
b= V_
c ac
b
~ -y
| a ab
RIGHT PRISM VOLUME (V) T FORMULAE
A=V_
h
h V=Ah
h= V_
A
Area of base = A
Midpoint formula; (x' ;Ig g 4 ;: y:]
Distance Formula; Vx - x) 2+ (3 = )2
Slope Formula: H
Equation of a line: yEmxte of y-y=mx-ux)
Simpsons’s Rule: Approximate Area = % (First + Last + T.O.FE)

where First = First ordinate, Last = Last ordinate
T.O.FE. = Twice the sum of the Odd ordinates +
Four times the sum of the Even ordinates,

h = the interval



